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Library and Information Science
Paper III

TITAT AT HIfEAr Il
wyuEreRT 111

Time Allowed : 2% Hours] [Maximum Marks : 150

Note : This Paper contains Seventy Five (75) multiple choice questions, each
question carrying Two (2) marks. Attempt All questions.

AT : A YeUIhd THY egel (75) SgudEl yed fooiel ofed. 9dish Ueen @ ()
0 . W Y gred.

1. Which of the following cannot be | |  gefteriest Hivar sieta =a gR

measured using an ordinal scale ?

MY & A Iehdl 2

(A) Age
) (A) ==
(B) Annual income
(C) Grade point average (B) =fiier Sca=
(D) Religion ©) g U ST
2.  Database management system that
: sement Y D) s
provides more flexible, albeit, more
complex, logical data models is : 2. BIOE FAEAUAMT vttt g
(A) Hierarchical Database Tt Tafaeh STel alt SAfuek forerse sfr
M t Syst o
anagement System T

(B) Network Database

Management System

(A) TRRSITHSHA SO LTI TGl

(C) Relational Database (B) “edeh SI&Y SHIEITT dgdl

Management System

~

(C) TEHd 22ey Faegd ggdl

(D) Subject Oriented Database
Management System (D) fosfysdia S eI gl

[P.T.O.
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Match the following : 3. Sied Jeodl

List T List IT e 1 et 11
(@ CDS/ISIS () NISCAIR (37) HAE /A TEIAATE. () TR
(b) Sanjay @) CMC (9) 9 Gi) HITHE.
(¢) Granthalaya (iii) UNESCO (%) v (Gii) FEh!
(d) Maitrayee (iv) DESIDOC () T Gv) Sfaet®

(@ B (@ (@ (@ B (© (@

(A) @ G @ @) (A) @ G @ ()
(B) @) @) G @ (B) @) @) @ @
(C) G) @ G G (C) @ @ G G
(D) Gi) @ @ G (D) Gi) () @ G
In Binary Number System digit 4 | 4. &R 37 Ugdld 4 & 36
is represented by : 4 Tuifaen S
(A) 10 (A) 10
(B) 11 (B) 11
(C) 100 (C) 100
(D) 101 (D) 101




Open System Interconnection was

an effort to :

(A) Standardise networking

(B) Provide Internet Connectivity

(C) Provide e-mails

(D) Standardise bibliographic

description

What is not ¢rue about spamming ?

(A) It is the abuse of electronic
messaging system
(B) The most widely recognised

form of spam is e-mail spam

(C) Spamming is expensive to

advertise

(D) Spamming costs huge in terms

of loss of productivity
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3o faer setemeRT

YT Sl T
(A) FeaferTen qHOhToTETS
(B) =T SISUEE

(C) I-Her=m gfadamt

(D) gfea FoiAr= gHTOiehomETdt

TIfHITeTedd Weilaideh! hivd  faem

3T 3T ?

(A) ¥19 7 Siford G FA0=1 eI
e
(B) 3-Ad ¥ & Al ¥9d YR

R

(C) WfHn § I EdEE Efdss d e

R

(D) SARCHIAT JEAT TR SHT

Ty wfds Ted

[P.T.O.



CPM is an effective :

(A) Method of Knowledge Organization

(B) Project Management Technique

(C) Budgeting Technique

(D) Data Collection Technique

Herzberg’s “two factor theory” deals

with :

(A) Staff recruitment
(B) Leadership

(C) Decision Making
(D) Motivation

‘Cranfield Studies’ are an example

of :
(A) Survey research
(B) Experimental research

(C) Historical research

(D) Case study
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(A) M HEEART dgdl

(B) Yehod ST o3

(C) SENUh: TIR HII o3

(D) wfec! Heherr

gsienEl ‘S wesh fagi’ wrelierden!
HIAR Hefed AR ?

(A) Ja= Frgwdt

(B) g

(C) frofa o

(D) 9Tom




10.

11.

12.

The group which is manipulated
by an independent variable is

known as :

(A) Experimental group
(B) Informal group

(C) Multiple group

(D) Controlled group

People who are available, volunteer
or can be easily recruited are used

in the sampling method called :
(A) Simple random sampling
(B) Convenience sampling

(C) Cluster sampling

(D) Systematic sampling

A question that directs participants
to different follow-up questions
depending on their response is

called :

(A) Response set

(B) Probe

(C) Semantic differential

(D) Contingency question

10.

11.

12.
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WA TATgR TEAET hedT SOl

(A) 9HEIfTR Te
(B) 3HT=es T

(C) wgfay e
(D) @ T

TEsaul fagen Juma, fhan waehdiA

Uy Fiedl fohal IUcTsd T

eIy Hereeiean Fg=aret

TR

(A) &9 Agfessh T e

(B) Wifreery w1 fHae

(C) Terfusdtd F91 o

(D) g T fere

ST fHegeed I I STIER

qaid fafay qeemhe Qe o gere

(A) wfqare 9=
(B) Srehyit
(C) At wie

(D) HIT=RN g9

[P.T.O.



13.

14.

As per rules laid down in AACR-II,
the entry element “Ministry of
Finance, Government of India” will

be rendered as :

(A) India. Ministry of Finance
(B) Finance, India, Ministry of .......
(C) Ministry of Finance, India
(D) India, Ministry of Finance

Arrange the following in correct

order :
() Deductive phase

(i) Empirical phase
(iii) Verification phase
(iv) Hypothesizing phase
A) @), Gi), Gv), (i)

B) (iv), (), (id), (i)

(©) i), (@), Gv), (i)

D) @), (v), @), @)

13.

14.
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THL IR -1T=01 Frmrgar “fafd site

HREAT, e 3% sfean” =i A

(A) Efean. U=l e wRA

(B) w4, sfean, fafdl oifw

(C) THf=T it WM, gfean

(D) tfea, fafwdt =% wEAd

Tl Feh=l qT HAGER Tl
LU

~

(@) TTTHATHS <1

(i) STIVANHRA

({i) TITEON Toq

(iv) TR T

A) @), @), (Gv), (D)
B) Gv), (@), (D), (D)
(C) @), @), Gv), (i)

D) @), (v), @), @)




15.

16.

“Annual Review of Information
Science and Technology” was first

published in 1966 by :

(A) Institute for Scientific
Information
(B) American Society of

Information Science (ASIS)
(C) IFLA

(D) Canadian Association of

Information Science

Hypertext uses

present text and static graphics.

(A) Hyperline

(B) Infoline

(C) Hyperlinks

(D) Dataline

15.

16.
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“STgIa eg A ThITHTH 94
3~ TS 1966 HEA GLA: HIVT
EEINICICTS

(A) TEISIE A% Arfefthsh STRHT

(B) SRR WEEE h ShITHYN
qEE (T TH.3E.TE.)

(C) IAE.TH.TAT. (T%)

(D) HEIE SEHTM HATh THRAIM

RIEES

A TRUTdra oo frer fafya

o~

Hlledl

SIGEY HITITATS]  BTAILEFEL

(A) BEILETEA
(B) TRICTEA
(C) sERfdsh

(D) S2TemeA

[P.T.O.



17.

18.

19.

A router :

(A) Receives a signal and

retransmit it at a higher level

(B) Helps to interface with another

network
(C) Essentially translates protocols

(D) Forwards data packets between

telecommunication networks

............................. is not an open source

library software.

(A) Greenstone

(B) NewGenLib

(C) Drupal

(D) Libsuit

POP stands for :

(A) Print Office Protocol
(B) Post Offer Protocol
(C) Pre Office Protocol

(D) Post Office Protocol

17.

18.

19.
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732

(A) To9a 9T & g1 3=d Uidaiel

gafud wal

(B) 3T S2deh3ll H9sh HIHUId Hed

ETG]|

(C) WIEIhlc™ YOO hidl

(D) IR \cashy WL HAifedl 9=
(321 Yhe) Ye uefad




20.

21.

22.

An open access source for research

reports on life sciences is :
(A) PubMed

(B) Biosis

(C) INSPEC

(D) World Patent Index

Which of the following key
combinations when pressed, restarts

the computer ?
(A) Ctrl+Alt+V
(B) Ctrl+Alt+Z
(C) Ctrl+Alt+Del

(D) Ctrl+Alt+C

One step that is not included in

planning a research study is :

(A) Identifying a researchable

problem

(B) Statement of the research

problem

(C) Developing a research plan

(D) Conducting a meta analysis

FEB — 18313/I1T

90. WIeicIdeh! hIvd HIfgdl @A Sfaeh

21.

22.

IMEACIA GINEA 3T8aTdd HI%hd  STcTsy

HTAE 2
(A) TaHS
(B) «Afg|
(C) %

(D) oce U T2

HIdeaid TTareddah! HITEl &0l

TehAqIUl IREI §0h =1 g

B ?

(A) Ctrl+Alt+V

(B) Ctrl+Alt+Z

(C) Ctrl+Alt+Del

(D) Ctrl+Alt+C

FESAYE JHEY 9l
(A) IeNEET TUEET WY 99

(B) 9w& fagq &0

(C) HIMEA TNES] daR hvl

(D) el faversor o

[P.T.O.



23.

24.

25.

Delphi technique is associated

with :

(A) Statistics

(B) Budgeting

(C) Forecasting

(D) Quality control technique

The early work on modeling of
information communication was

based on :

(A) Lasswell model

(B) Shannon and Weaver model
(C) Bradford and Prince model
(D) Goode and Hatt model

The process of flow of Information

from the generator to the user is :
(A) Information search

(B) Information transfer

(C) Information need

(D) Information system

23.

24.

25.
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e ?

(A) &R
(B) QSIS
(C) wfaszay
(D) Turer FEAT

Tfed TSGR Y @eferdeh!
IO TR AR Bl ?

(A) AHIA I

(B) IFA enfor =R yrEy
(C) sewe anfor o9 yrey
(D) T 7ftr g &y

fafar @ U9 a1 wifedt qaTRre

~

yfhdel & WA ?

(A) wfedt <y

(B) wifedt gk
(C) wifedr=t TSt
(D) wfedt agdt

10



FEB — 18313/I1T

26. “Information is piecemeal, | 26. “Wifedt & TRfea 7for fafyre e14q.”
fragmented and particular.” Who T faym o a8 ?
said ? @A) <F .
(A) Daniel Bell ®) f - o -
(B) Fritz Machl
ritz Machlup ©) W
(C) Brookers
(D) dafehd
(D) Belkin
27. S Jeodl
27. Match the following :
BIC | orar 11
List I List II
() STafad TEfE™ (@) EH ST
() Aslib Proceedings (a) Science Direct
Gi) ST ®) o9 3E qEH
(it) DOAJ (b) Web of Science
Gii) AAEA T2d () 9 o
(Zit) Thomson Reuters (c¢) Open Access
Journals
(iv) Elsevier (@) Emerald (lv) RIS (@) THICS
(i) (ii) (iii) (iv) (l) (ii) (iii) (iv)
(A) @ (0 ® (@ (A) d) (o) ®) (o)
(B) © (@ ®) (@) (B) e ®) (@)
(C) @ (o) d) b C) (@ (o d) (b)
(D) ) (@) b)) ) (D) e () ®) @
11 [P.T.O.



28.

29.

30.

The function of shelf list becomes
very fuzzy when :

(A) The library also has an author
catalogue

(B) The library also has a title
catalogue

(C) e-books are added to a
catalogue

(D) Library also acquires print

serials

Identify the MARC tag that is used
for variable fields containing data
related to subject access to the
document :

(A) 7TXX
(B) 6XX
(C) 5XX
(D) 2XX

The generic tasks for which users
use a database described in the
FRBR model are :

(A) ‘to find’, ‘to identify’, ‘to select’
and ‘to acquire or obtain’

(B) ‘to browse’, ‘to identify’, ‘to select’
and ‘to acquire or obtain’

(C) ‘to find’, ‘to select’, ‘to acquire’
and ‘to read’

(D) ‘to discover’, ‘to categorize’, ‘to
select’ and ‘to acquire’

28.

29.

30.
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T I e HH B A, HR

YT UIhR ATfARTIO 3T
Terard TOAH qlfeiehrao 3T
AfeTehaed S- o= THE B T

(A)
(B)
©)

~

et qfsd Faderamdu It

H A

goremen fawg cvifauarast A asd
HIUET T ARAT MR ?

(A) 7TXX

(D)

(B) 6XX
(C) 5XX

(D) 2XX

Th. AR &R, el Hifgd e

X HIMETS! A ?

(A) ‘ziyer’, ‘SAreeEor’, faeu’ smfur
‘W W?

(B) ‘=mesvt’, ‘Sles@yl’, ‘frasu’ emfur
‘W W?

(C) ‘3, ‘e, ‘ura o’ efor
‘qreor’

(D) ‘3, ‘et we’, e’

afor ‘ure mYor’

12



31.

32.

33.

In the context of the structure, the
second component of the MARC

record is :

(A) Variable fields
(B) Fixed fields
(C) Directory

(D) Leader

Match the following :

List I List IT
(z)  Fusion (@) Metaphysics
(i1) Fission (b)  Astrophysics
(i) Cluster (¢) Humanities
(lv) Agglomeration (d) Indology
@) (@) @) (@v)

@  ®» © @ @
B © @ ® @
© @ @ ® ©
D ® @ @ ©
WordNet is :

(A) A Thesaurus

(B) A Classification Scheme
(C) A Library Network

(D) An Ontology

32.

33.

FEB — 18313/I1T

B W Aiere

e GO S 3T

(A) =Ruaa fres

(B) freg fhes
(C) ferwtl
(D) fersx
el Jeodl

Iqray T qEt T
@) e (@) TeIftRfsE
(i) ThsH (b) TR
(ifi) AR () TR
(o) STARIE  (d) TSrArST

@ @ @) ()

(A) G © @@ (@
(B) e @ b (@
(C) d (@ B (o
(D) b (@ @ (©
ST HA R ?

(A) TagrE

(B) oTieRI0T I
(C) T T s
(D) SA=2raArsit

[P.T.O.



34.

35.

Arrange the following according to

their year of origin :
(z) Rules for Dictionary Catalogue
(i) ALA Code

(zi1) FRBR

(iv) AACR-I

A) @), Go), Giv), (Gv)

(B) @Gv), ), (@), (i)

©) @), Go), Gv), (i)

D) @), Gv), (), {@ir)

We cannot use the characteristics
‘date of first publication’ and ‘the
date of first edition’ one after the
other to decide a universe of books.

Identify the canon that directs us to

this guideline :

(A) Canon of Differentiation
(B) Canon of Concomitance
(C) Canon of Ascertainability

(D) Canon of Permanence

34.

35.

FEB — 18313/I1I

Tt "2l e FHHd aoigar

Al {0

() ToH ®R TewRml swedm
@) TTAT e

(iii) TH. 33N

(v) TUHLSM.-I

(A) (&), (i), (Gii), (v)
(B) Gv), (), @), (i)
(C) ), (i), (Gv), (i)

D) @), Gv), @), (i)

T TR HOAES TIH TR
o’ onftr ‘ufge oa YhmRH 9w’
1 TF AT THTIRIIS ATI
JUR AEl, B TR FOM g
FoG 2

(A) faveq g3

(B) wemfye o
(C) THfTeuum= gt
(D) Tenfgeerd= g1

14



36.

37.

Match the following :

List I List II
(?) Chain Indexing (@) Bhattacharya
(i) PRECIS (b) Taube
(zi) POPSI (¢) Ranganathan
(iv) Uniterm Indexing (d) Austin
@ @ @ G

(A) ® @ @ ©
(B) @ @ b @
(©) © @ (@ ©®
(D) @ @©© & @

The three core processes i.e. opening,
orientation and consolidation
have been explained in which
information seeking behaviour

model ?

(A) Kuhlthou’s Model

(B) Wilson’s Model

(C) Foster’s Non-linear Model

(D) Krikela’s Model

36.

37.

FEB — 18313/I1T

el a3l
Iqrar T qEt T
@) SEen fRyE (@) wgrEd
@) 9 (b) =
(izi) dret (c) THIEA
(v) I A (d) 3
@ G @) (o)
a  » @ @ ©
B (@ ©© ®’ @
(C) © @ (@ ®
D @ © & (@

I ggE gfehan wifedt Y A=

P JEAHES TR hedl fled ?

(A) A9 9TEy
(B) facuT= usy

o~

(C) W AHA-fafer urey

(D) forahe™ 9TET

[P.T.O.



38.

39.

String of which indexing system has
fixed citation order of discipline,

entity, parts, properties and

processes ?

(A) PRECIS

(B) POPSI

(C) SLIC

(D) NEPHIS

The search strategy that takes
you from high precision to high

recall is :

(A) Building Block

(B) Citation Pearl Growing

(C) Successive Fractions

(D) Boolean Search

38. e f

FEB — 18313/I1I

~

RIE Ygdid, (foawa, s,

qmT, T, Wi orEn wu gafaen

AR ?

(A) 94

(B) diedl

(C) fer=

(D) AfRs

o~

39. Il WY & = S=d TUfasH e

3= fhidee O a2

(A) faeein st

(B) 9MEYH Uel W

(C) Wi HheRM

(D) e w=

16



40. Who is the author of ‘Systematic

41.

42.

Indexing’ ?

(A) E.J. Coates
(B) J. Kaiser
(C) C.A. Cutter

(D) J.W. Metcalf

Hierarchical relation in a Thesaurus

is a relation between :
(A) BT and RT
(B) RT and UF
(C) NT and RT
(D) BT and NT

Which Information Retrieval Model
studies the properties of the
languages as well as artificial

language ?

(A) Mathematical Model
(B) Economic Model

(C) Psychological Model

(D) Linguistics Model

40.

41.

42.

FEB - 18313/III
‘fawfer sSfrm’ o domen o
HO R ?
A) % St Breg
(B) I. W

(C) ®t. T &K

(D) S. Ex]. HHTH

geRsTea ferm guffad.
(A) & et el
(B) SR3A. 7fn T
(C) TS smfor R
(D) st.3. enfor T3

wifedt JfauTi= hIod JIET 7o ST
FHIEAH = O A w2

(A) Ol 9Ty

(B) smfdfer &y

(C) HFERTEST &y

(D) WIS 9y

17

[P.T.O.



43.

44.

45.

The ‘Web of Knowledge’ is the

service offered by :
(A) BIOSIS

(B) Pergamon

(C) Elsevier

(D) Thomson, I.S.I.

Which of the following is not a

bibliographic network ?
(A) OCLC

(B) ISO

(C) CAS

(D) A-G Canada

The edition statement is given in
parenthesis immediately after the

title of the documents in :
(A) Chicago Manual of Style
(B) Modern Language Associate

(C) American Psychological

Association

(D) Scientific Style and Format

43.

44.

45.

FEB — 18313/III
‘e Ao’ € T w2
(A) wEE
(B) w0
(C) Tlfe®

(D) AMHEA, 3H.TH.3TE.

Teeeh! HIUA Fod Aedesh  A@ ?
(A) ST.9.Te.dl.

(B) 9.WH.37.

(C) d.uud.

(D) U-S el

TAMMT i T hEHed =

ST g ehetl ST

(A) Torem dgeTa % WA
(B) Hied oias Eifdue

(C) SRR GEehlalfsehel STEIURHE

(D) TrEfefrer WEA < HiHS

18



46.

47.

Match the following :

List I List II
(1) Introduction to (a) B. Guha
Reference Work
(2i) Documentation (b) W.A. Katz

and Information
(iii) University Libraries (c) S.R. Ranganathan
for Developing
Countries
(iv) Documentation and (d) M.A. Gelfand
its facets
@ €29) (iv)
(A) ®) (@ @ (o
(B) (c) b) (@ (@
©) (@) (c) b)) @
(D) ® @ (© (@

(€22)

Second group of entities in FRBR

consist of :
(A) Author and Conference
proceedings

(B) Person and Corporate body
(C) Publisher and Corporate body
(D) Author and Publisher

46.

47.

FEB — 18313/I1T

el Jeodl
Iqray T qEt T

() TERMEZ (o) . T@
TH I

(i) SEHA  (b) T T HIH
31T TR

(i1i) FF=rEe (c) TH. 3.
ARSI ThIT T
SRATT i

(v) SERHRE  (d) TH. T TT%-S
EUCEEE
Ha

@) @) @) (o)

(A) b (@ @ (©

(B) e b (@ @

(C) (@ (o b)) (d)

(D) & @ © (@)

TH. TS AN, =1 G- TeMHES hel

qHEY AR ?

(A) Tger snfor ufve g
(B) =Kit ST woeel geen
(C) YhmIeh omfor gasd Heen

(D) TSR A0 YehTeTH

[P.T.O.



48. Match the following :

49.

List I List

II

(1) INDEST (@) Engineering

Sciences

(1) FORSA (b) Nuclear

Physics
(iii) INIS (¢) Education
(iv) ERIC (d) Astrophysics

@ @  Gi) o)
A @ © @ ®
B © @ ® @
© @ @ ® ©
D @ @ @© ®

According to AACR-II, the

statement of responsibility in case

of sound recordings “Texas

country

by Willie Nelson and others” will be

rendered as :

(A) Texas Country/Willie
and others

(B) Texas Country/Willie

(C) Texas Country/Willie
(et al.)

(D) Texas Country/Willie

Nelson

Nelson

Nelson

Nelson

FEB — 18313/I1I

48. Sredl ool
DI el o

49.

@)
(23]

M

TS (@) ST TaaY

wrE (b) AT

Gii) 3t (€) TghHIA
(v) 3RH (d) SrRfRfaTg

(A)
(B)
©)

(D)

@ @ @)
@ (@ @
© (@ (®)
@ @ (b
d (@ ()

EAEER

@)
b)
(d)
(c)
)

Texas country by Willie Nelson

and others” a1 taiqfgh=t BIi
TOHLAR-II J8R H3M el SRA 2

(A)

(B)

©)

(D)

Texas Country/Willie

and others

Texas Country/Willie

Texas Country/Willie
(et al.)

Texas Country/Willie

Nelson

Nelson

Nelson

Nelson

20
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50. Telescoping of arrays satisfies : 50. faepifam s wivreen A= 1o
(A) Law of Symmetry H ?
(B) Law of Osmosis (A) o afw Fade
(C) Law of Parsimony oL
(B) & A SigEIfad
(D) Law of Impartiality
: : (C) o ik aIfdiet
51. A regression curve is :
(A) A model of a mathematical (D) @ 37 greraferd
relationship between two 51. ‘wRTE 9% YT TRURY
variables
(B) A model of a direct relationship (&) < HeT e
between two variables qred
(C) A model of an inverse (B) 39 TAMmeal 92 Hey <gifaum
relationship between two S—
variables
(D) A model to depict central (C) < et farltel et
tendency areq
52. Which of the following is not the (D) WeAadt Yol SO 9rEd
use of devices in classification . o e -
9 52. IR ITT Ygdldlc RERIERCININEE]
schemes 7
HIMTES ERREN q‘rg"]'a ?
(A) To avoid enumeration o '
(B) To provide autonomy to a (A) TRETUET ZTesvarETe!
classifier (B) Teh<0T O TG SUATETE
(C) To satisfy the library users )
(C) araehiel TS YUl HTUATHIS!
(D) To satisfy the canon of helpful
sequence (D) U SHHT=AT G et hLvardre!
21 [P.T.O.



53.

54.

Which of the following is a primary

document ?

(A) Nature

(B) Current contents

(C) Science citation index
(D) Chemical abstracts

Assertion (A)

Primary sources provide most

authentic information.

Reason (R)

Primary sources are highly
unorganised as far as access is

concerned.
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A).

(B) Both (A) and (R) are true,
but (R) is not the correct

explanation of (A).

(C) (A) is false but (R) is true.

(D) Both (A) and (R) are false.

53.

54.
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GTATcAdeh! IOl GTefHeh Yo g ?
(A) =R

(B) HiE hed

(C) 99 TRy T

(D) kel TeRTRH

faam™

()

grufas qiew gaia Afuea  Atfed
3 *
Ul (R)

INET=AT §sH greafas dred gy

foehadia 3THaTd.

<he

[N

(A) (A) 3o (R) 99 27red Ao (R)
T (A) T IEH TR IR

(B) (A) a0 (R) ¥ 3Rd 90 (A)

I (R) T R TR0 TEl.

(C) (A) T% &8 WY (R) 9 3T

(aY

(D) (A) smfor (R) <& gk e
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55. The term ‘Lexicography’ is associated | 55. ‘TRITRIITH’ & U1 WcicTish! IR
with : Heifed 3R ?
(A) Compilation of dictionaries (A) VI TIR HI
(B) Compilation of directory (B) TRt daR @l
(C) Compilation of encyclopedia (C) AP TIR HI
(D) Compilation of yearbook (D) =1fteh TR
56. When each member of a population | 56. T&idl Ycish WA THAT TEUH
has an equal chance of being Megel SToar=it ¥aE F4ft STeom==an T
selected, the sampling is called : fas ggdien TEUrdrd.
(A) Probability sampling (A) Fvrear A1 e
(B) Quota sampling (B) whial A1 e
(C) Snowball sampling (C) whated 1 fHae
(D) Purposive sampling (D) Y A Tere
57. ‘Universities Handbook : India’ is | 57. ‘gfesfdds g=g® : sfear’ =ivi
published by : JRIRE el 3R ?
(A) UGC (A) IS
(B) NBT (B) wA.€.2.
(C) AIU (C) w39,
(D) ILA (D) A¥.UA.T.
23 [P.T.O.



58. Match the following :

59.

@®

@)

(@ii)

@)

(A)
(B)
©)

(D)

List I
NISSAT (@)
NISCAIR ®)
DESIDOC ()
Information d)
Consolidation
(@) (i1)
o (o)
(@ ()
d ()
b)) (o)

List II
Indian Science
Abstracts
State-of-the-Art
Reports
Information
today and
tomorrow
DJLIT
@) (@v)
(b)
b)
(b)

(d)
(c)
(c)

d) ()

Division into two is called :

(A) Dichotomy

(B) Decachotomy

(C) Polychotomy

(D) Monochotomy

58. el Jeodl :
Iqret 1
@) frEe
(i) TR
(i) Sfasi®
(jv) THRIHIE
HLIeTSIH
@) (i1)
(A) (c) (@)
(B) (@) ()
©) d ()
(D) (b) (c)
59.
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(@)

)

(c)

(d)

qEt T
gfeam W

@) (@)
b)
)

)

(d)
(c)
(c)

d) (o)

T IS fuTTOt AT ST

U ?
(A) feater

(B) fesamenierdt

(C) dffeTshierd
(D) HHEhEHT
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60.

61.

62.

NISCAIR was formed by the

amalgamation of :

(A) NISCOM and INSDOC
(B) INSDOC and NISTADS
(C) NISCOM and NISTADS
(D) INSDOC and NISSAT

Which organisation is working
on intellectual property rights at

international level ?
(A) WIPO

(B) UNESCO

(C) IFLA

(D) ANSI

Which of the following principles
of management corroborates the
statement, “Library administration
should create environment which

leads to harmony and unity” ?
(A) Initiative

(B) Equity

(C) Espirit de Corps

(D) Order

60.

61.

62.

FEB — 18313/I1T

HITTAT S GLATTAT THAHIIMER

frabercet fafdt et emy 2
(A) Frepta suftn 3ers
(B) THeF o e
() Frewtm aufn Frgs
(D) TerF anfor Frme

Sy GUeT ATISRIETed AR
TIdedial Il TEM TR i Sy ?

(A) T=.ema el (amE)
(B) J¥ehl

(C) %M

(D) TEA.TE.3ME. (37=H)

" GRITEAT GETar ST TehalrerTd

e wEl”, O foearen e

FIUA TA TR <d 2
(A) sHfeTfess
(B) oI

(C) Tolifie € =iy
(D) (R
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63.

64.

65.

Biotechnology is an example of :
(A) Fission

(B) Fusion

(C) Cluster

(D) Lamination

Who looks after DDC ?

(A) UNESCO

(B) TFLA

(C) OCLC

(D) CILIP

Identify the right sequence :

(A) Theory, Law, Hypothesis,
Axiom

(B) Axiom, Hypothesis, Law,
Theory

(C) Hypothesis, Axiom, Law,
Theory

(D) Law, Hypothesis, Theory,

Axiom

63.

64.

65.

FEB - 18313/III
SIS § he IaE0 AR ?
(A) frs
(B) WIS
(C) FTEX
(D) e
S @I HO R ?
(A) FTeh
(B) 9T
(C) .4t .uadt.
(D) dife™
I wH S@En

(A) 7a, fagra, qafgam, wafas

qcd

(B) wafag dw@, qafgam, fasid,

qcd

(C) qaiqam, wafag @, fasgi,

qcd

(D) fagrd, qaiqam, a@, @=afas

qcd
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66. ‘Annals of Library and Information | 66. ‘3icH 3% wREE{ 3f€ IHITHIM
Studies’ journa] is pubhshed by : ‘{‘dsﬂl\ﬂ, %- F'iq('lch“(\m‘;h .........................
(A) ILA SRR L.
(B) DRTC (A) AMA.TAT
(B) fe.ama .
(C) NISCAIR
(C) TT&=har
(D) TASLIC
o (D) saTfETeh
67. The Concept Of ‘anISIble COllege’ .............................. M ¢ (el 2 O\ ?
was first used by : 67. . i ?JFﬁ RIS et
& Hehedw ufgediel ST B
(A) Derek Desola Price
(A) S SEe Iy
(B) F.W. Lancaster .
(B) Th. T Th
(C) Eugene Garfield - -
(C) JISA Thes
(D) S.R. Ranganathan .
(D) TH. AR THEEA
o 2. ing i lled : .
68. In web 2.0 tagging is called 68. B 2.0 WE T e
(A) Economy BUrdrd.
(B) Taxonomy (A) ShATH
(C) Synonymy (B) oMt
(D) Folksonomy (C) o=
69. According to the Maharashtra (D) hIFHTHT
UniVGI'SitieS ACt, 1994 ......................... 69. 1994?:“‘ Hsl{lb;\ r°|'6||“|ﬁld q”le‘lal'i{"l{
is the Member Secretary of | e %. I(\GI‘HI“I“Id ﬁumq
University Library Committee. Qq‘ﬁ:ﬁﬁ% LS [L % Hr-qq AYdd.
(A) BCUD Director (A) stHg.Sl. Faees
(B) Librarian (B) T¥ure
(C) Dy. Librarian (C) SUTUTA
(D) Registrar (D) pordfed
27 [P.T.O.



71.

72.

is not an indexing

(A) MESH

(B) Roget’s Thesaurus
(C) Macrothesaurus
(D) TEST

The first Ph.D. in India in Library

Science was awarded to :
(A) B.S. Keshvan

(B) D.B. Krishna Rao
(C) P.N. Kaula

(D) S.R. Ranganathan

Which service consists of feedback

mechanism ?

(A) Translation service
(B) CAS

(C) SDI

(D) Reprography

71.

72.
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(A) "

(B) Usiew fomrE
(C) weRifodrE
(D) &=

TATATITSAA TR gfgetl T-T=. Sl

SIE] T Sh{UATd ST

(A) &l. TH. HIEA
(B) €t. &l. HORE
(C) W. TWH. wHicn

(D) TH. R THIEA

HI GaqA gfqae I0m Ui
AR ?

(A) 9IS Jar
(B) %9
(C) TH.EI.3T4.

(D) wfdferdt Fen
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73. A glossary consists of : 73, GRETET SGEEY .
(A) List of common words in specific )
(A) faferse videl = Seer= e
language
(B) List of thematically arranged (B) VI fawem et
words ‘
(C) v== Tl
(C) List of words arranged in
alphabetical order (D) qIfSer V=T s Al
(D) List of technical words with 74 Terfreear & feia’ ot )
definitions
74. Who proposed the ‘Demand Theory’ (A) TSIl Hehehrereer
of book selection ?
(B) Hawla S8
(A) Lionel McColvin
(C) WH. 3. THEH
(B) Melvil Dewey
(C) S.R. Ranganathan (D) Th. &. = gl
D) F.K.W. Drury 75. STehY0l Tgdien Weliciyeh! shiodl A
75. Which of the following is the HestE o 2
correct evolutionary sequence of
classification schemes ? (A) UDC, BC, EC, DDC, CC
A) UDC, BC, EC, DDC, CC
(®) ’ ’ ’ (B) DDC, EC, UDC, CC, BC
(B) DDC, EC, UDC, CC, BC
(C) DDC, UDC, EC, BC, CC
(C) DDC, UDC, EC, BC, CC
(D) UDC, EC, DDC, CC, BC (D) UDC, EC, DDC, CC, BC
29 [P.T.O.
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ROUGH WORK
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LIBRARY AND INFORMATION SCIENCE

Seat No.

(In figures as in Admit Card)

SEALINO. ettt ettt eeeaaas

(In words)

(To be filled by the Candidate)
[Maximum Marks : 150

Number of Pages in this Booklet : 32

Number of Questions in this Booklet : 75

e

10.

12.

Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 75 objective type questions. Each question

will carry two marks. All questions of Paper-III will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(i1) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(iir) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

ONON NO

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.

=

10.
11.
12.

formeataTd! HevaTeT Yo

TR ST STEH STk A1 s3adiel S= ShiT=rd fara.

T YR 75 SgUAE YT STR. Y YA g 07

. 1 JETIfahdiel 9 U Hrefan s1famd o1, 9ee= ooa

ERBEERIE R EE cr Bl e

TRl Y& FAeareR forneten yeafsent faeft Sed. geamd= 5

oo ST TET TEAfAeR! ST @eiiet e ST T

R

() TSI SHSTATEIE! TeUlhar Aae Hid SHe.
e THeie foran Hiat Saeciel JeTafieh! Rehe T4.

Gi)  OfEeaT YsaTeR THE ShedTHHTIT Uyufsrehel UehUT Uss
S I ITECIEH /hHT WY STHCTEH /Aol Sehten
THU T feha 3a¥ J2T STHeTeH WIS Wy=Tufsreht
goardren 5 faferde udaerehen wa 3T gat
YYTURIRT ANTEA SaTal, WAy WgTdirenl sgeft
eS0T AT el Sesdt Teal eIt =Tl ATl huan

Gi) FAAYEY e TSAI@T Uleedmaid YA At
7). TH. 3. ITAfSTeh=n R fergre.

A TR (A), (B), (C) 3T (D) 7eh =R forehed s feeht

ST, TS A I ThMAT Tt SRTIATIA Sesehqul

hTeal/ Feal L.

T : T(C) T AT T 3THA T

ST
Sireeied 1 qHERE hed i H.

SR ST 3. TH. 3R, X TG heted fahon safaiie 3a¥ Hiser
Shelel STEagT ST STea STH Ao oo fohall 3
FeIee shoary faaneafen wWiay s tfovar 5.
TR YR feneaiy ges o7l uh. 3TR. Sl qHaeishichs
TR S0 ST 3T, AT, FRTAR! & 31T, ST, STAtehelt
Tefta v sTIeameRieR Jvars faeneaf wari o1

ieh {1 feRa SRl SiTel Uil STu ShaT,
TS feRdl AT Saer AT UATH TIErTt e,
FEhTSAT SALHTS! 0T SHUTA Shetl SO ATa,




